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D�� gQOLVDQV� SURJUDPODUÕQÕQ�� E�UR�\|QHWLPL�YH� VHNUHWHUOLN��E�UR�\|QHWLPL�YH�\|QHWLFL�
DVLVWDQOÕ÷Õ�E|O�POHULQGHQ�PH]XQ�ROPDN��

E�� g÷UHQFL� 6HoPH� YH� <HUOHúWLUPH� 0HUNH]L� �g6<0�� WDUDIÕQGDQ�
���(\O�O������ WDULKLQGH�\DSÕODQ�.DPX�3HUVRQHO�6HoPH�6ÕQDYÕ¶Qda 75 ve üzerinde (KPSSP93) puan 
DOPÕú�ROPDN��

F�� 6RQ�EDúYXUX�WDULKL�LWLEDUL\OH����\DúÕQGDQ�E�\�N�ROPDPDN������2FDN������YH�GDKD�
VRQUD�GR÷DQODU��

G�� 7�UNL\H�&XPKXUL\HW�0HUNH]�%DQNDVÕ�0HPXUODUÕ�<|QHWPHOL÷L
QLQ�����PDGGHVLQGH�
EHOLUWLOHQ�GL÷HU�NRúXOODUÕ�WDúÕPDN���
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.366�SXDQÕ�HQ�\�NVHN�RODQ�DGD\GDQ�EDúOD\DUDN��KHU�ELULP�LoLQ�EHOLUOHQHQ�NRQWHQMDQÕQ��o�NDWÕ�NDGDU�
DGD\�V|]O��VÕQDY�P�ODNDWD�WDEL�WXWXODFDNWÕU��

6|]O�� VÕQDY�mülaNDWÕQ� WDULKL� YH� \HUL� DGD\ODUD� GDKD� VRQUD� \D]ÕOÕ� RODUDN� ELOGLULOHFHN��
D\UÕFD�%DQNDPÕ]�LQWHUQHW�VLWHVLQGH�GH��ZZZ�WFPE�JRY�WU��GX\XUXODFDNWÕU��
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$GD\�2OPDN�øVWH\HQOHULQ��
D�� 1�IXV�+�YL\HW�&�]GDQÕQÕQ�DVOÕ�LOH�ELUOLNWH�ELU�IRWRNRSLVLQL��7�&��.LPOLN�QXPDUDOÕ���
E�� g÷UHQLP�EHOJHVLQLQ�DVOÕ�LOH�ELUOLNWH�ELU�IRWRNRSLVLQL��
F�� .366�VRQXo�EHOJHVLQLQ�DVOÕ�LOH�ELUOLNWH�ELU�IRWRNRSLVLQL��
G�� ����[���FP��ER\XWXQGD�LNL�IRWR÷UDIÕ��

HQ� JHo� ��� 2FDN� ����� &XPD� J�Q�� oDOÕúPD� VDDWL� VRQXQD� NDGDU� %DQNDPÕ]� øGDUH�0HUNH]L� 3HUVRQHO�
<|QHWLPL� 0�G�UO�÷�� LOH� $GDQD�� $QWDO\D�� %XUVD�� 'HQL]OL�� 'L\DUEDNÕU�� (GLUQH�� (U]XUXP��
(VNLúHKLU�� *D]LDQWHS�� øVNHQGHUXQ�� øVWDQEXO�� ø]PLU�� ø]PLW�� .D\VHUL�� .RQ\D�� 0DODW\D�� 0HUVLQ��
6DPVXQ��7UDE]RQ� YH�9DQ�ùXEHOHULQH� EL]]DW� YHUPHOHUL�JHUHNPHNWHGLU�� 3RVWD� LOH� \DSÕODQ�EDúYXUXODU�
NDEXO�HGLOPH\HFHNWLU��
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